Jeffrey and Kiran – Collaboration or Mediation Exercise

Problem Scenario:

Jeffrey and Kiran are both 32 years old. They have two children, Tracy, age 8, and Johnny, age 6.

Kiran comes to mediation saying it will probably not work. Her husband, Jeffrey, is insecure, depressed and angry about the divorce. Her main issue is that she wants to move out of Columbia back to Philadelphia where her parents live and an old boyfriend she has been in touch with recently. She wants the children to move with her, as she was the primary care-giver until the past two years. Kiran moved out a month ago to stay with a girlfriend in Columbia. She has the children on the weekends.
Jeffrey says that the problem is that Kiran has had a high-stress job working long hours in a law firm for two years and has drifted away from him. He doesn’t want the divorce. He has been the primary care-giver for the children for the past two years. He is a school teacher and gets out at 3pm and picks up the kids. He says she needs to get away from her job, not him and not Columbia.  
Kiran makes $250,000 per year and Jeffrey makes $80,000 per year. He says he’ll be asking for child support and spousal maintenance. They own a small house worth approximately $900,000. Jeffrey doesn’t want to move. They have no savings, but Kiran has a 401(k) retirement of $100,000.
Kiran is concerned that Jeffrey might be into internet porn, and might allow the kids to see it. Jeffrey denies that he’s into internet porn.
Jeffrey is concerned that Kiran is having an emotional affair with her old boyfriend, Jimmy, who lives in Philadelphia. Kiran denies this.
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